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Unit 1
Section 1

Question 1

<) Any three of the following or similar:
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3 marks (AQ2)

) The following three or similar:
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3 marks (AO2)

) Any two of the following or similar:
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2 marks (AQO2)
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+  Any two of the following or similar.
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* 3 marks (AO2)

€) Any two of the following or similar:
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2 marks (AQO2)
Total for question = 13 marks (AO2)
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Question 2

Any five appropriate sentences. The following sentences are given as possible responses:
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2 marks (AO2)
3 marks (AO4)

Total for question =5 marks (AO2 + AO4)

Question 3

One mark should be awarded for each correct answer as given below. The following or similar will
be accepted:

Total for question =5 marks (AO3)

F, e / + a correct/appropriate sentence.
Q. D S/SHCEIET + a correct/appropriate sentence.
5. @@f@-\?/@-'@’/m/ CHEC + a correct/appropriate sentence.
q Bl Eicarc + a correct/appropriate sentence.
®. a—f@'—@m + a correct/appropriate sentence.
Question 4

One mark should be awarded for each correct answer as given below:
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Question 5

One mark should be awarded for each correct answer as given below:
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’ Total for question = 5 marks (AO3)
Question 6

Each correctly completed task should be awarded one mark. Candidates get both parts of each task
in the question to score one mark on offer. The following or similar will be accepted:
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a correct/appropriate sentence.
a correct/appropriate sentence.
a correct/appropriate sentence.
a correct/appropriate sentence.
a correct/appropriate sentence.

on =5 marks (AO2)
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Where Knowledge of Grammar (A03) is being assessed the following criteria should be used. For
Section 1 this applies to Questions 3 & 5.

Marks Knowledge of Grammar (A03)

0-2 Shows very little grasp of grammatical structure. Errors are such that
communication is seriously impaired.

3-4 The level of manipulation of structures and the number of errors make
comprehension difficult.

5-6 There is some awareness of structure. There are still basic errors but
communication is generally maintained.

7-8 The manipulation of basic structures is generally sound. There are attempts to
use more complex structures, but not always successfully.

9-10 The knowledge and use of most structures is good. There are still some
inaccuracies, but these are usually in attempts at more complex structures.

Total for Section 1 = 40 marks

The mark distribution for the questions in Section 1 are as follows:

Ql = 13 marks
Q2 = 5 marks
Q3 = 5 marks
Q4 = 7 marks
Q5 = 5 marks
Q6 = 5 marks
Total = 40 marks
Section 2

For the translation task in this section, the following criteria should be used.

Marks Response to Written Language (A02)
0-1 Little or nothing of merit.
2-4 Shows poor understanding of the original and translated in a language that has a

very limited range of vocabulary. Errors in spelling, punctuation and grammar
impede comprehension.

5-7 Shows satisfactory understanding of the original and translated in a language
that has a limited range of vocabulary. Errors in spelling, punctuation and
grammar are intrusive and affect comprehension.

8-11 Shows good understanding of the original and translated in a language that has
a wide range of vocabulary. Accurate, with only a few minor erros in spelling,
punctuation and grammar.

12-15 Very good understanding of the original and translated accurately in a language
that has a wide range of vocabulary. Excellent spelling, punctuation and
grammar.

Total for Section 2 = 15 marks
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Section 3

To assess the Response to Written Language (A02) and Knowledge & Understanding (A04) in this

section, the following criteria should be used.

Marks Knowledge/Response/Reaction (A02/A04)
0-5 There is little or nothing of relevance. A zero score will automatically result in
zero for the question as a whole.

6-12 A limited number of points made, many for which are vague or irrelevant. No
justification for points made.

13-18 Some relevant points are made, ideas are not clearly organised. Some reaction
is evident, but the points made are not always justified or illustrated. The
answer generally lacks a clear focus.

19-24 The answer is generally on the subject with a number of relevant points, but not
always appropriately supported.

25-30 Relevant points are clearly made. The answer is focused on the question and

offers ideas which are logically and clearly developed. Good personal reaction,
usually justified.

To assess the Knowledge of Grammar (A03) in this section, the following criteria should be used.

Marks Knowledge of Grammar (A03)
0-2 Shows very little limited grasp of grammatical structure. Errors are such that
communication is seriously impaired.
3-5 The level of manipulation of structures and the number of errors make
comprehension difficult.
6-8 There is some awareness of structure. There are still basic errors but
communication is generally maintained.
9-12 The manipulation of basic structures is generally sound. There are attempts to
use more complex structures, but not always successfully.
13-15 The knowledge and use of most structures is good. There are still some

inaccuracies, but these are usually in attempts at more complex structures.

Total for Section 3 = 45 marks

Total for Unit 1 = 100 marks




